~-606510639 fif#

%

—RFERX1 01 —RFEFX1 ZD 2

o x<—4 @ =4 o T >—4 @ x> —06
® T = -2 @ < -3 ® = -1 @ x>5H
®» T2=5 ©® > —4 ®» 2= —6 ® v<2
@ r< -3 ® < —4 » < -3 ® T<-—b
@ = —4 an T < 2 ® <3 ao x> —6
an T =4 a» T = =5 an x <4 a» x < =3
ap © < —4 KV RROEHIT -5 ap >3 LU RDOEHIT 4

an > -2 XV, BhOEHIT -1 an x> -3 XV, F/hOBEIT -2

a x 2= -5 £V, F/hOEELIT -5 apn S0 £V, BROEHITO

ae T <4 XV, BRROEHIL3 ae x < —4 LV, RKROEHIL -4
—RFEX1 203 —RFER1 20 4

o r=-1 @ w2 @ x>0 @ > -2
® <4 @w <3 @ x24 @ T>5
® 2= —1 ® < —4 ®» x> —6 ® = —2
™ T =2 ® < —4 @ >4 ® < —4
@ xT2=-—1 an T = —5 ® >0 an < —3
an r <5 az =6 ay x> —4 ap r < —4
ay <6 LV, RKOEHIT6 ap r>2 £V, F/hOBERIT 3

av =2 =5 £V, FhORERIT -5 av x < -1 XV, RKROEHT -1

am T < —6 LV, HRROEHT -7 as) x 24 LV, B/OEEHKIT 4

ao T <5 KV, BKROEHIL 4 ao T >—6 LV, fhoOBEHIL -5
—RFERX1 ZD 5 —RFERX1 0D 6

o < -3 @ =<0 o T>2 @ =3
® =0 @ = -—1 ® < —6 @ =5
® <2 ® < —6 ® <5 ® <5
@ x>6 ® <2 @ x <3 ® T>—9>
@ r<0 aop > —4 ® <3 an < —1
an ¢ < =3 a» <4 an T =3 a» <0
a» x = -5 £V, F/hOEEEIT -5 apy ¢ < =2 LV, FROEHIT -2

an x>1 K10, F/hOBEHIT 2 an <0 £V, BROBEHIT -1

a >3 LV, BhOREEIT 4 ap T > —4 X0, F/hOEIT -3

ao x> —1 £V, BT O ae =25 XV, B/NOBEEIL S



